ICSE Guess Paper – 2008
Class – X
Subject – Computer Application

General Instructions:

(i) Answer to this paper must be written on the paper provided separately.

(ii) You  will not be allowed to write during the first 15 minutes.

(iii) This time is to be spent in reading the question paper.

(iv) The time given at the head of this paper is the time allowed for writing the answers.

This paper is divided into two sections.

You are to answer all questions from  Section A, and any four questions from Section B.

The  intended marks for questions  or parts  of questions are given in brackets [ ] .

            ----------------------------------------------------------------------------------------------------------------------------------------------

SECTION  A [40 Marks]

Attempt all the questions.

While answering questions from this part, indicate briefly your working, and reasoning, wherever required.

Q1.
Give the difference between the following :








[20]

(a) = operator and = = operator

(b) ‘/’ sign and ‘%’ sign

(c) char At ( ) and substring ( )

(d) unary operator and binary operator

(e) operators and separators

(f) Byte stream classes and Characater stream classes

(g) ‘&&’ operator and  ‘ ? :’ operator

(h) public class and private class

(i) source code and byte code

(j) prefix notation and postfix notation

Q2.
Write a method that checks if value stored in a character type variable is a digit or a letter and displays an appropriate  message.











[5]

Q3.
Give the value of the variable tot, after the following code is executed :




 
[2+2]

(a) tot = 10;

ctr = 5;

tot = tot+(++ctr);

(b) tot = 10;

ctr = 5;

tot = tot+(ctr++);

Q4.
Identify the errors in the following codes :
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(a) int new = 5;

(b) num = 10;

(c) char ch = s;

(d) B = a.readline ( );

(e) A2=a1.replace(“r”, “w”);

Q5.
Is each of the following a different character ? Give reasons for your answer.
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(a)
0 ( zero )
(b)
O (capitol O)
(c)
o (small o )

Q6.
Give the full forms of the following :
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(a)
JDK

(b)
API

(c)
HTML

SECTION B [60 Marks ]

Attempt any four questions.

Each program should be written in such a way that it clearly depicts the logic of the problem.

Give comments in the program wherever required .

[4x15=60]

Q7.
Write a program in to input a  word  as a string and print it in the reverse order.

Q8.
Write a program  to bubble sort the following set of values in descending order :

5,3,8,4,9,2,1,12,98,16
( 
Output :
98,16,12,8,5,4,3,2,1 


Q9.
Write a program in java to accept a string and  print the vowel count of that string.

Q10.
Write a program in java to modify the following string :


“Ip is a matter of principle and we cannot ignore ip as ip is very urgent.”

(a) Replace all ‘p’ with ‘t’.

(b) Change the string to uppercase.

(c) Change the string to lowercase.

Q11.
Write a program in java that calculates the factorial of a  number.

Q12.
Write a program in java to print the following pattern :


1


22


333


4444


55555

SECTION A

A1.













[20]

(a) ‘=’ operator assigns the values to the variable whereas ‘= =’ operator is used to compare the values of the variable with the value on the left hand side.

(b) ‘/’ sign is used to perform the division operation whereas ‘%’ operator I known as modulus which is used to get the remainder values of the calculation.

(c) charAt( ) is used to extract the character from the string one at a time in order to check its identity. Whereas substring( ) is used to extract the given string from the main string i.e. to extract the small string form the main big string.

(d) Unary operator uses only one operand such as +,-,*,/ etc and acts on one operand whereas binary operator acts upon two operands which are on its either side.

(e) Operators are used to perform math calculations using arithmetical signs whereas separators are used to make the specific groups of code and define the shape of function.

(f) Byte stream classes is used to accept support for handling i/o operations on bytes. Whereas character stream classes provide i/o support on character handling.

(g) ‘&&’ operator is a Boolean operator which is used for AND operation whereas ‘? :’ operator is a conditional or ternary operator which returns a value of  exp 2 if exp 1 is true and if the exp 1 is false it returns a value of exp 3.

(h) Public class is available to the entire class in which it is defined  , private class is available only within their own class.

(i) Source code is the program written by the programmer for the machine and byte code is the compiled program in java which is in machine language.

(j) Prefix notation is first incremented and then the value is added ++a, whereas postfix notation is used first and then the increment takes place a++.

A2.
public void check( )
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{


if ( character.isDigit(ch))


System.out.println(“it is a digit”);


If ( character.isLetter(ch))


System.out.println(“it is a letter”);


}

A3.
(a)
the value will be tot=16 s first the ctr will be incremented.





[2+2]

(b)        the value will be tot= 15 as first the ctr will be added as it is.

A4.
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(a) new is reserve word in java and cannot be used as a variable.

(b) Num must be initialized before using it as a variable.

(c) Char type value must be within single quotes.

(d) readLine( ) is the right form of syntax with L capital.

(e) Parameters are given in the single quotes.

A5.
(a ), (b ) and  ( c) are all different characters as they will occopy16 bit width for storage purpose because java identifies each character following the rules of upper case and lower case.
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A6.
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(a) Java Development Kit

(b) Applet Programming Interface

(c) Hyper Text Mark-up Language

SECTION B

A7.


class  Arrange


{


public static void  sort (String [ ] str )


{


for ( int i= 0; I < str.length –1; i++)


{


for (int j=i +1; j<str.length; j++)


{


if ( str[ i].compareTo (a[j]>0)


{


String a1=str [j];


Str [j]=str [i ];


Str [i ]= a1;


}}}}}

A8.
import java.io.*;
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class convert


psvm

{ 

int a[ ]= {5,3,8,4,9,2,1,12,98,16};

int t;

for (int  I=0;I<a.length-1;I++)

{

for (int j=0;j<a.length-I;j++)

{

if (a[j]<a[j+1])

{

t=a[j];

a[j]=a[j+1];

a[j+1]=t;

}

}

}

System.out.println(“sorted array is”);

For (int k=0;k<a.lenth;k++)

{

System.out.println(a[k]);

}

}

}

A9.


import java.io.*;

class vowel

{

psvm( )


{


string s =br.readlLine ( );


int l = s.length ( );


for (int x=0; x<l ; x++)


{


char z = s.charAt(x);


if ( x ==’a’ 11z==’e’11z==’i’z==’o’z==’u’)


int vow++;


}


System.out.println ( “Total no. of vowels in the string are =”  +vow);


} }

A10.


import java.io.*;


class correct


{

public static void main ( String args [ ] ) throws IOExecption

{

BufferedReader br = new BufferedReader ( new InputStreamReader(System.in);

String  a [ ] = new string [10];

String str;

for ( int j=0;j<a.length;j++)

{


if (a.charAt(j) ==’p’)


a.charAt(j)=’t’;


if (a[j]!=null)


}

System.out.println(“a[j].toUppercase( ));


System.out.println(“a[j].toLowercase( ));


}}

A11.


import java.io.*;


class fact


{

public static void main ( String args [ ] ) throws IOExecption

{

BufferedReader br = new BufferedReader ( new InputStreamReader(System.in);

System.out.println( “enter the no. whose factorial is to be generated”);

 int a = Interger.parseInt( br.readLine( ));

double fact=1;

for ( int i =1; i<=a; i++)

{

fact=fact*i ;

}

System.out.println(+fact);

}}

A12.


public class pattern


{


public static void main ( String args [ ] )


{


for (int i=1; i<=5; i++ )


{


for (int j=1; j<=i; j++)


{


System.out.pint(iI);


}


System.out.pintln ( );


}}}

